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LGk mXETF & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
1 |tketh 451,962,005| FEHRHRRX 1,792,336 MR 34,835,870
2 |EHET 201,408,199 /R 531,563| & & 3,765,709
3 MR 98,115,578 JIITH 150,204} )\ F Xt 2,892,989
4 |BHT 71,460,339 #4id T 121,317)8kFh 1,743,637
5 |R£mM 41,932,755\ B EFHH 60,640) FEMHPRX 1,309,935
6 |EEEHH 18,456,450| FEHMEKER 34,189 Il 1,070,784
7 |FHET 9,088,832|8kFmh 32,349| FEMERER 374,992
8 |/\FHT 8,504,598| & ¥ 23,686| B =B 335,284
9 |EEH 8,259,692 = & 15,403 LLE 335,088
10 |[FERFREX 6,739,123LV g A1 15,169 E & 293,502
11 | FERERR EHT 6,641,153 R A — = HT 12,300 B 1L 246,046
12 [l 6,397,176| K& & 7,714\ iaAEH 128,299
13 |#h/ridm 6,263,777 fRtE™H 7,431\ FE 124,525
14 | KREEM 4,022,780 B R T 6,598 &R Fh 117,660
15 |t 3,811,931 | RAEBREH 6,301 | ARE & 103,019
16 [+ 3,599,303| F B 59124/ i 93,775
17 |FERFERX 2,000,853 ¥7 AT 5427|¥AF 86,013
18 [/ 1,456,535 iE T 3,703 Z R 66,341
19 |Ei&h 1,306,590|8E LI 2,468 ENFEERSE < FHHET 62,805
20 |EIR™ 1,107,706 FEHHER 2,055 fE T 49,930
21 |FERERIR 885,234| B & 1,622 K#AE B 46,648
22 |#®BFH 720,826 L E T 1496| FEMEERX 39,300
23 |FTEHRMERX 606,553| K#AH B h 1,488 EETH 27,860
24 |2F T 593, 875|fAF 1,456 B H 1 26,663
25 iR 443,221 |ENFEERE < FHET 384|mE AT 20,938
26 |BkFH 402,392| K& 335 LV AT 11,437
27 | &M 223,792} )\ FHH 219 REA— = HT 7,498
28 |mEEmH 207,992| % EX BB 3R BT 125|287 E 6,455
29 W™ 176,031|FE# 120\ RAEBRES 3,680
30 |ZExER B ET 167,500] [ BT 105| & 2,169
31 | 159,259 LI BB & LLIET 85 £= £ BBk R AT 1,194
32 |EEM 141,231 & 4 ERBER ET 64]/\fEmH 1,076
3B |FEMEER 136,506 AT 61| LIZ AR Z ILLIET 354
34 /\#ET™H 129,136 /\ 32|4am 166
35 |ILEA A+ EHT 121,741)4am 9| FERERINKX 96
36 |EFENERZ HHET 92,100| & ER AR 4o 15 ET 18| R A AR K FafT 4
37 |FmE#T 86,670) & 4 ER = A AT 5| & EX AR R FE AT 1
38 |simm™ 85240|=E B /EEH 1
39 |ENFET™H 84,030]%& )11  CEV NG 0
40 |iLEERZ ILET 80,181 FEMERIIX 1| ET 0
41 | FERZR 712577 FEMKZKER O| &= HR &R 2 BT 0
42 |REBEESR 69,3998~ B 0| & H & ek BT 0
43 |m#ET 42,0278 ol & 0
44 | RAEEREIHET 38,046)|ENFG T ofskh 0
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163 X ETHT £ (10°m%/ %) X BT+ 4 (10°L/4F) X ETH £ (10°L/%E)
45 |XHEBRET 35, 714|MHmH O] FEMFMER 0
46 | AaT™H 33,850) MU i & OJ L Ef L+ . BB BT 0
47 LK EREZ SLET 32,160] LI R4 22 SL BT ojEnEaT 0
48 [gEILTH 24,800 & HY R % H HT o|EFHh 0
49 |ENFEERIE < FHET 23,981 L BB AL+ L B BT O| = &£ ER = ARHET 0
50 |LV AT 20533| FEMMBER of FEmi#xX 0
51 |=FEERHENTEET 20,400{E=TH O| RAEEN B FHT 0
52 [®&)IITH 19,760 RFRAD A 2 ZHT Of L1 = BR 18 2= S BT 0
53 |ENFEERSET 11,879 =™ olicEt 0
54 |5 4 BRBER ET 5,252| R BB EBHENTE BT O| = FBER K 2 = HT 0
55 |RA4ERE FHET 4,509 & & AR ARET ofFE Ll 0
56 |=EEBEARET 4,300( LU o) iz 0
57 |=IBERKZ ZHT 2812\ REF B FHT O| = FE AR {7 BT 0
58 |RAEE—=HT 566 | E1 % A 5 BT O ENfE AR S BT 0
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